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a vertex ordering vy, ..., v, is successive it
for each j > 1, there exists i < j with v; — v;
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given a graph,
how many successive vertex orderings are there?
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given a graph,
how many successive vertex orderings are there?
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given a graph,
how many successive edge orderings are there?




line graphs




line graphs




line graphs
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successive edge orderings of G

= successive vertex orderings of L(G)




a graph is reqular if for every v, € V,
the number of vertices in V \ {7, } that are not connected to v, is a constant 7,
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a graph is reqular if for every v, € V,
the number of vertices in V \ {7} that are not connected to v, is a constant

O/QM/) ()/QM/)

C/KQ{)/Q (/%(}{)/O

a graph is fully reqular if for every independent set | = {v,...,v;} CV,
the number of vertices in V' \ | that are not connected to / is a constant



Theorem (Fang-Huang-Pach-Tardos—Zuo, 2023). The number of successive vertex orderings
of a fully reqular graph G is given by

Proof idea. Use inclusion-exclusion; the fully regular property makes Y j—,, Pr(Aye; Xo) nice. O

a graph is fully reqular if for every independent set | = {v,...,v;} CV,
the number of vertices in V' \ | that are not connected to / is a constant



complete graph K,

a graph is fully reqular if for every independent set | = {v,...,v;} CV,
the number of vertices in V' \ | that are not connected to / is a constant




complete bipartite graph Ky, ,

a graph is fully reqular if for every independent set | = {v,...,v;} CV,
the number of vertices in V' \ | that are not connected to / is a constant




complete bipartite graph K;, ,

a graph is fully reqular if for every independent set | = {v1,..., }CVv,
the number of vertices in V' \ | that are not connected to / is a constant




complete bipartite graph K;, ,

(Knn — 2” ZH]—I—YI

1=07=1

— (2n)! (1  lon 1-n 2-n )

1+n 1+n 2-+n

1—mn,1 n
’
= (2n)!,F 1) =(2n)!
14+n 2n —1
a graph is fully reqular if for every independent set | = {v1,..., }cV, _ S —4j
the number of vertices in V' \ | that are not connected to ! is a constant U(G) = ao! Z H



line graph L(Kj)

W

a graph is fully regular if for every independent set | = {v,...,v;} C 'V, 7(G) = ag! Z 1—[
the number of vertices in V'\ | that are not connected to / is a constant «; '



line graph L(Kj)

3 3 5 |
2 1(z —n 1(z —n 2(3 —n
_n 3 _n n )
_ n |, F 1 27 D D) 1 _ n '2 7’1'(1’1—1)' _ n '211
2) 2 3 2)" 4(2n —2)! 2)°C
5 — N ( n— ) n—1
a graph is fully reqular if for every independent set | = {v1,..., }CVv, 7 (G) = ay! i ﬁ —4j
the number of vertices in V' \ | that are not connected to / is a constant — MU




line graph L(Kjy; )
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a graph is fully reqular if for every independent set | = {v1,..., }CVv, I
the number of vertices in V' \ | that are not connected to ! is a constant O(G) a0 Z H




line graph L(Ky; 1)

min(m,n)

o(L(Kpn)) = (mn)! Y ] —(m = j)(n =)

i—0 j=1 M1~ (m—j)(n—j)

:(mn)!(1+(l—m)(1—n) (1-m)(1—n) (2—m)(2—n) I )

1(1—m—n) 1(1-m—n) 2(2—m—n)
1l—m, 1—mn
——(ﬂn0!2F1< ’ 1)
l—m—n
(mn)! m! (mnynr+n
— (mn)! — .
_ m-+n
(nm4+1)...(m+n—1) ("
h is fully regular if f independent set | = {0, ..., cv, S
’?h%rflﬁmﬁéuofy JZf’zcaerslin?i ive’:ﬂﬁfa{cnarzpne; c(i)r;mseected tcf is a con];tant U(G) = ao! Z H




Fre1

i = C is a constant function of k

a series ) - tx is geometric if

Ztk:t()zck

k>0 k>0



P(k)

a series ) y~q ty is hypergeometric if tﬁ—‘;l = 00 is a rational function of k

P(k) (k+ay)...(k+ap) N
Q(k)  (k+0by)...(k+by)(k+1)
. P(k—l)t L P(k—l)...P(O)t
Qk-DT T Qk-1)...Q(0) "
_ (a1) - - - (ap)i &F -
k;)tk - kgo (b])k o (bq)k k| (a)y=a(a+1)...(a+k—1)

611, o ey ap
_F
’”’(bl, .., b, x)



(k+ay)...(k+ay)

Y k>0 tk is hypergeometric if fkt:l =7

k+b1)...(k+bg) (k+1)

X is a rational function of k

=)

k>0

k>0

(a1)k - -

(b1 - -




(k—!—al)...(k—i—ap)

Y k>0 tk is hypergeometric if fkt:l =7

k+bq )...(k+bq ) (k+1

)x is a rational function of k

(a1)k--- (ap)e x* (al,
k;] (bl)k .. (bq)k k! qu bl/
(@) =a(@a+1)...(a+k—1)




SIN X = Z

k=0

b1 _
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(_1)kx2k+1

X2
(2k+1)! :xk;) k1) Foh (3/2 | Z)

(—1)k+1x2k+2/(2k 14 3)!

(—1)kx2k /(2k + 1)1

(k+ay)...(k+ay)

. o
Yk>0 tr is hypergeometric if £ = (

k+b1)...(k+bg) (k+1)

a
x is a rational function of k Z b = Z
= = (b1)-.-(b

1

(k+3/2)(k+1)
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X
arctanx_/ — “1)k42k g4 —
1+t2 0 kg%)( ) kg(:) 2k 4+ 1 l;) 2k +1
1/2, 1
ZXZFl( 3/2 |—x2>

bl (_1)k+1x2k+2/(2k—|—3) B k—|—1/2(_x2) _ (k+1/2)(k+1)

g (—1)kx2k/(2k+1)  k+3/2
i b is hypergeometricif S = AR i e ionofk Lok 1 ok g (A1
k>0 Lk 1S nyperg: o = (F+b1)..(kb,)(k+1) © 18 @ rational function o = = O AT by X




= B e () )

Bessel function = (m+a+1) n - T(a+1) 0
T st x° S
incomplete gamma function v(s,x) = /0 SNANCES 5 151 (S +1
—n, n
Chebyshev polynomial T, (cosf) = cos nb Tu(x) =2F ( 1/2

n

. X
dilogarithm Lip(x) = Z — =x3b (
n>0
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(k+ay)...(k+ay)
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. o
Yk>0 tr is hypergeometric if £ = (

Theorem (Euler). If R(c —b) > 0and x € C\ [1,00), then

JF; (a, b x) _ F(b)l;(((;)_ 3 /01 tb—l(l . t)c_b_l(l — xt)

c

Proof. We have

F(C) L c—b— —a
F(b)F(c—b)/o P11 — )01 — xt) T dt

_ F(C) (ﬂ)n n n+b— c—bh—

_P(b)l“(c—b)rg) nt /o T - T

_ I'(c) Z (a)p ,T(n+b)T'(c—Db)

0T (c—b) =, n! I'(n+c)
_ v (@)n(b)n X"
_rg) (¢), n!

—4dt.

(k+ay)...(k4ap)
k+by)...(k+bg) (k+1) k>0 k>0

(a1)k - - -
xis a rational function of k  2_ tk = )_ (b1 )g - ..




. o
Yk>0 tr is hypergeometric if £ = (

Theorem (Euler). If R(c —b) > 0and x € C\ [1,00), then

a, b
2 (

C

Corollary (Gauss, 1812). If R(c —a — b) > 0, we have
(a)n(b)y a, b ['(c)I'(c—a—b)
Y =201 |1

130 n'(c)y

['(c—a)l(c—0b)

Proof. Send x — 1 to get

I'(c) fol h=1(1 — pyeab=1 gy = ?Ez)f(:);(i - 53

. T(C) 1 _ c—b— —a
x) = I’(b)I’(c—b)/g 11 — b1 — xt) " dt.

(k+ay)...(k4ap)
k+by)...(k+bg) (k+1) k>0 k>0

(@1) - - (ap)
: : : t = —
x is a rational function of k2 fk = ) (b1)k - - - (by)







JF; (a, b x) _a X)C_a_szl (c—a, c—b x)
C C
o (0T ) = (5]
2F1 (a’ b x) 2F1 (f_d’ f—e x) :2F1 (C_a’ c-b x) 2P1 (d, ¢ x) c—a—b=f—-d—e
f c f
= 35 UM =Dt O b (@b 1f o)
= (c kk'(f)n_k(n—k)' n!(f)n O\ d—f-n+1,e—f-n+1
F( -n,a,b —f-n+1 |1)_ (d)n(e)n F —n,c—a,c—b, 1—f—n 1
9 c,d—f—n+1l,e—f—n+1 _(f—d)n(f—e)n43( c,1—d—n,1—e—n )
a c (a1)k-- - (ap)i x* ;o
2P1( ’cb x) B r(b)I;((c)— b) /01 Al O L =L AR A (2 ZZ



—n,a,b —f—n+1 (d)n(e)n —n,c—a, c—b,1—f—n
4F3 ) 1 :(f 4F3

)

d—f—-n+1,e—f—n+1 —d)u(f —e) c,1—d—n,1—e—n
F _n’ a’ b’ C 1 (e_a)n(f_a)n F _n’ a’ d_b’ d—C 1 a+b+c—n+1
2 4., ©@n(Hn  *\da+l-n—e a+l—n—f Sdrers

—n, a, b (e—a)y —n, a,d—Db
P 7 4 1 — P 4 7 1 f,c—}-oo
3 2( d, e ‘ ) (e)n 312 (d, ﬂ—|—1—n—e ) f —cfixed

:(d—a)n(e—a)n r —n,a,a+b—n—-—d—e+1 1
(d)n(e)n 2\ a—n—d+1l,a-n—e+1

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

E —n,a,b 1 _(d—a)u(e—a)y F —n,a,a+b—n—d—e+1 1
302 d, e a e 32\ a—n—d+1,a-n—e+1 '

I'(c) L b . _ (a1)g - - (ap)k x* _ (al, R
x) :F(b)F(c—b)/(] #b 1(1—t) b 1(1—xt) dt )k Z(bl)k---(bq)kk! pFy I




indefinite summation

n
Tn — E tk
k=0
- (i) o
Y. no simple form
k=0 k

a
2 ,
/ e”" dx nosimple form
—00

Gosper’s algorithm

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

31_,2(—?1, a, b 1) _ (d_a)”(e_a)”3132(_n’ a,a+b—n—d—e+1 1).

d, e (d)n(e)n a—n—d+1,a—n—e+1

definite summation

oo
T, = Z tn,k

k=—o0

£ ()

k=—o00

/ e dx = /7T

— 00

Zeilberger’s algorithm




Gosper’s algorithm

given hypergeometric t,, does there exist hypergeometric T), satistying T}, 11 — Ty, = t,,?

(if so, we have )}ty = Ty41 — To)

Problem. Find a nice form for

Solution. By Gosper’s algorithm, we have T, ;1 — T,, = t,,, where

T, = 2 (>’ Thus

L oo ml 2m +2\?
n;)n— mi1 = T0= g | g )

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have (a1 )k o (ap)k xk 1 aP
t — A P A §

F —n, a, b , _ (d—a)u(e—a)n E —n,a,at+b—n—d—e+1 . Z k Z (bl)k---(bq)k k! P Q(bl’ .., b

302 d, e (d)n(e)n 2\ a—n—d+1l,a—-n—e+1 ) q




Gosper’s algorithm

given hypergeometric t,, does there exist hypergeometric T), satistying T}, 11 — Ty, = t,,?

(if so, we have )}ty = Ty41 — To)

Problem. Find a nice form for

m—1 m—1 on
Tgt”: ng:on—kl'

Solution. Gosper’s algorithm halts without finding a solution. This

constitutes a rigorous proof that T, = Z?;é ty is not a hypergeometric
term. [l

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

3bh (

—n,a, b
d, e

') -

_ (d—a)y(e—a)y

(d)n(e)n

a—n—d+1,a—n—e+1

(a1)k...(ap)kxk ((11,
fr = - = F
SPZ(—n,a,a%—b—n—d—eJrll). Z k Z (bl)k---(bq)k k! P4 bl,




Gosper’s algorithm

given hypergeometric t,, does there exist hypergeometric T), satistying T}, 11 — Ty, = t,,?

(if so, we have )}ty = Ty41 — To)

1. Write the term ratio as t"t—:l =F gc(;:)l) rg{(ﬂ for polynomials p(k),q(k),r(k)

such thatif (k+a) | g(k) and (k+ B) | r(k), then a« — B is not a positive integer.
(This is always possible and is not hard.)

~—

2. Write Ty, = r(};}(?(()k) ty. Then the condition T, 1 — T, = t, implies a recurrence

p(k) = gq(k)s(k + 1) —r(k)s(k) for s(k). (The condition from step 1 and the
requirement that T, is a hypergeometric term force s(k) to be polynomial.)
Solve for s(k) to get Ty; if s(k) does not exist, it means that no hypergeometric
T} exists.

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

E —n,a,b 1 _(d=a)ule—a)y E —n,a4,a+b—n—d—e+1 1
302 d, e o (d)n(e)n 2\ a—n—d+1l,a—-n—e+1 )

m m k n
Ztk = Z(—].) (k) integer n > 0
k=0

k=0

by (CD"m(n—1)...(n—k)/(k+1)!  k—n

b (~Dfu(n—1)...(n—k+1)/kl  k+1
p) =1, qk)=k—n, r(k)=k
1=(k—n)s(k+1)—ks(k)

s(k) =—1/n




Gosper’s algorithm

given hypergeometric t,, does there exist hypergeometric T), satistying T}, 11 — Ty, = t,,?

(if so, we have )}ty = Ty41 — To)

m mo o/
Z b = Z (k) integer 1 > 0
k=0

k=0
1. Write the term ratio as t"t—:l = P;’C(J]:)l) rg{(f)l) for polynomials p(k),q(k),r(k) Bl _ nn—1)...(n—k)/(k+1)! _n— k
such thatif (k+a) | g(k) and (k+ B) | r(k), then a« — B is not a positive integer. tx n(n—1)...(n—k+1)/k! k+1

(This is always possible and is not hard.)

p(k) =1, q(k)=n—k r(k)=k

2. Write Ty, = r(};)(?(()k) ty. Then the condition T, 1 — T, = t, implies a recurrence 1= (71 — k)S (k + 1) — ks (k)
p(k) = gq(k)s(k + 1) —r(k)s(k) for s(k). (The condition from step 1 and the 7 = (n — Zk) (S(k + 1) -+ S(k)) -+ n(s(k + 1) — S(k))

requirement that T, is a hypergeometric term force s(k) to be polynomial.)
Solve for s(k) to get Ty; if s(k) does not exist, it means that no hypergeometric deg(s(k)) =d

Ty exists. d — _1
no hypergeometric T;, exists

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

Ztk—z(a”k'“(ap)kx—k— r ((11, cvey ap
—n, a, b _(d—a)u(e—a)y —n,a,a+b—n—d—e+1 - b)) ... (b)), k' — P74




Zeilberger’s algorithm

Proposition. For integer n > 0, we have
() =)
. k n

Proof. Let F(n,k) = (’;)2/(2$), and set G(n,k) :=

R(n,k)F(n,k), where

k*(3n — 2k + 3)

R(n, k) = —

Then it is straightforward to verify that
F(n+1,k)—F(n,k) = G(n,k+1)

summing both sides over k then gives

22n+1)(n —k+1)%

— G(n,k);

ZF +1,k) =)_F(n,k)

k

for n > 0. Since ) F(0,k) = 1, we are done.

Theorem (Sheppard, 1912). Given a,b,d,e € C and integer n > 0, we have

E —n,a,b 1 _(d=a)ule—a)y E —n,a4,a+b—n—d—e+1 1
302 d, e o (d)n(e)n 2\ a—n—d+1l,a—-n—e+1 )

0

(ap)i xF e (0

(bq)k k! P bl,
(A =a(@+1)...(a+k—-1)




An r-uniform hypergraph or r-graph consists of a finite vertex set V

along with an edge set E C (‘r/) Each edge of the r-graph is an
r-element subset of vertices.




Kf) is the complete 3-uniform hypergraph on four vertices

also known as a tetrahedron

the line graph L(H) of a hypergraph H has each edge of H as a
vertex, with two H-edges adjacent if they intersect
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(3)

a successive vertex ordering of L(K};”) is a way to order the 3-element
subsets of {1,2,...,n} so that each set after the first one contains some
element of a previously chosen set




line graph L(K

(3)

n

)

a graph is fully reqular if for every independent set | = {v1,...,
the number of vertices in V' \ | that are not connected to / is a constant

}CV,




line graph L K,SB)

\n/3| i (Tt 3])

(LK) = () Y H

=0 j= 1 (n 33])

Floolln/3] 2 -Binomial[n - 3 j, 3]
In[52]:= Table[ , {n, 3, za}]
.y Binomial[n, 3] - Binomial[n -3 7, 3]

i=0
18 27 18 459 297 1755 162 368631
197 317 237 6647 4937 3379 3657 979151°
3726 4363065 21141 100602 855961182 898724539971 308367 }
11741° 16398253 95215 545179° 5601577967 ° 7125324321331 2970431

Out[52]= {1, 1,1

In[53]:= %52 // FactorInteger

outl53]= {{{1, 1}, ({1, 1}}, ({1, 1}}, ({2, 1}, {3, 2}, {18, -1}}, {{3, 3}, (31, -1}}, {{2, 1}, {3, 2}, {23, -1}},

2, -3}, {3, 3}, (17,1}, (83, -1}, {{3, 3}, {11, 1}, {17, -1}, {29, -1}}, ({3, 3}, {5, 1}, {13, 1}, {31, -1}, {1@9, -1}},
2,1}, {3, 4}, {5, -1}, {73, -1}}, {{3, 5}, {37, 1}, {41, 1}, {47, -1}, {83, -1}, {251, -1}},

2,1}, {3, 4}, {23, 1}, {59, -1}, {199, -1}}, {{3, 8}, {5, 1}, {7, 1}, {19, 1}, {23, -1}, {47, -1}, {53, -1}, {227, -1}},
3, 6}, {5, -1}, {29, 1}, {137, -1}, {139, -1}}, ({2, 1}, {3, 7}, {23, 1}, {67, -1}, {79, -1}, {1@3, -1}},

2,1}, {3, 8}, {18, -1}, {37, 1}, {41, 1}, {43, 1}, (61, -1}, {149, -1}, {163, -1}, {199, -1}},

3,10}, {41, 1}, {43, 1}, {89, 1}, {97, 1}, {193, -1}, {283, -1}, {465, -1}, {467, -1}, {683, -1}}],

3, 8}, {47, 1}, {87, -1}, {113, -1}, {271, -1}}}

a graph is fully reqular if for every independent set | = {v,...,v;} CV, o ( G) , Z 1—[ ]
the number of vertices in V' \ I that are not connected to / is a constant



Conjecture (Fang-Huang—Pach-Tardos-Zuo, 2023). We have, for n > 3,

[n/3] i _(n—Bj) " 13n/2]—

3 = | = Ci Ci,
%Q@—("?ﬁ bJ ,lll / Hf
31j 3\]

where ¢j = ?(( ) — ("3_])) =+ (3 —3n)j +3n> —6n+2.



Theorem (H., 2023). We have, for n > 3,

n/3] i (n 3]) L 13n/2]|—
E;Ilzw—@fw_lﬁ Jllq ]I%’
31 3\]

where c; = ?((g) — (";])) = j*+ (3 —3n)j+3n* — 6n + 2.

Proof sketch. Let X, = v/1 + 6n — 3n2. Observe that the sum is hypergeometric:

2l (Y 144434
ZH =3Pz( 1 1)-
ST - (9—3n+X,), 1(9—3n— X,)

Apply Sheppard’s theorem and Gosper’s algorithm, then simplify. O]



line graph L (K,S,},f ))

=)
A A :
(o) (o) B n—2
o o =(m—1) )
( (
° °
° ° _ Y A 2]
° PY T (m ]) ( ) )
& . & . I N
mey m w2y = (™)) D)
n no T\ R "\ 2 n N (12
1=0 j=1 m(z)_(m_])( 2 )
a graph is fully reqular if for every independent set | = {v,...,v;} CV, o ( G) — gl i ﬁ —4aj
the number of vertices in V' \ | that are not connected to / is a constant — 70 < 10— a;
i=0 j=



Conjecture (Fang-Huang—Pach-Tardos-Zuo, 2023). We have, form > 1andn > 2,

M ) e () 4 ()
i=0 j=1 m(’é) (m —])(n 2] j=1 dj ,
where d; = }(m(g) — (m—j)(", 2])) and where any numerators or denominators on the

right that are equal to zero are ignored.



Theorem (H., 2023). We have, form > 1andn > 2,

B e [ B L U 1)
iz j=im(y) — (m—)("7) =1 dj
where d; = %(m(g) — (m—j)(", 21Y), and where any numerators or denominators on the

right that are equal to zero are ignored.

Proof sketch. Let Yy, , = v/ (2m + 1)2 — 8mn. Observe that the sum is hypergeometric:

iR =) () F( =5 35 1-m
— 3142
= mam® - (m—i) () 15—2m—2n+Yun), 2(5—2m—2n—Y,

Apply Sheppard’s theorem and Gosper’s algorithm, then simplify carefully.

» ‘ 1)

[



Freegy /41 & -Binomial[n-47, 4
[ 2. 4 > {n, 40, 44}] // FactorInteger

In[64]:= Table[
ize  j=1 Binomial [n, 4] - Binomial[n -4 7j, 4]

outle4]- {{{2, 21}, {13, -1}, {23, -1}, {41, -1}, {53, -2}, {61, -1}, {73, -1}, {89, -1},

(241, -1}, {331, -1}, {743, -1}, {761, -1}, {911, -1}, {1091, -1}, {19154778839631970056937, 1}},
{{2, 18}, {5, -2}, {13, -1}, {17, -1}, {43, -1}, {47, -1}, {59, -1}, {67, -1}, {71, -1},

(89, -1}, {157, -1}, {211, -1}, {269, -1}, {557, 1}, {1409, -1}, {1415797460315131, 1}},

{{2, 18}, {3, -1}, {5, -1}, {7, -4}, {11, -2}, {17, 1}, {23, -1}, {53, -1}, {61, -1}, {73, -1},

(191, -1}, {331, 1}, {373, -1}, {449, -1}, {829, -1}, (108971, 1}, (207004691, 1}},

{{2, 20}, {5, -2}, {7, -1}, {29, -1}, {47, -1}, {59, -1}, {67, -1}, {71, -1}, {79, -2}, {131, 1},
r181, -1}, {311, 1}, {317, -1}, {521, -1}, {1013, -1}, {1891, -1}, {15393787603028743, 1} 1,

{{2, 22}, {3, -3}, {7, -1}, {23, -1}, {29, -1}, {31, -1}, {53, -3}, {61, -1}, {71, -1}, {73, -1},
1179, -1}, {181, -1}, {449, 1}, {499, -1}, {1367, -1}, {265423, 1}, {347851378367, 1} }}

e -Binomial[n -4, 4] _ n
In[65]:= Sum s {1, o, Floor[—] }, Method - HypergeometricTermPFQ]
iy Binomial[n, 4] - Binomial[n -4, 4] 4
=z2)(2=z2)(3-2)(I-2) _
out[65]= Sum - { 41 (4 4 J’ {2 4)’ {4 4]’ , {;’, 0, FJ}, Method - HypergeometricTermPFQ
i+ D(Z-2) (L (-2n-v-4m@+12n+1 +11)) (2 (-2n+ 42+ 12n+1 +11)) 4
4 2)ilg 8
. i i i

terminating 0-balanced 4F3(1)



-Binomial[n-57, 5]

1L
In[6g]:= FullSimplify [Sum [n
1
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2 [13-188 n-185 o - 88 - 180"

Binomial[n, 5] - Binomial[n-57, 5]

n
i, 8, Floor ;

;]

» Method » HypergeometricTermPFQ] ]

T
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future work

counting successive vertex orderings for nice graphs (e.g., hypercube Q;), and nice classes of
graphs (e.g., strongly regular / distance-transitive graphs)

_(n 3]) ZL”/SJ (n+3 1— 3])
(5)— (”;’f) ~3 j=1 (5)- (”33’

generalizes from 3 to t); together with the Pfaff-Saalschiitz identity, this gives an alternate proot

recently, T. Amdberhan proved that ZLW 3 ] 1 (in fact, this

of the L(K(3)) theorem avoiding Sheppard’s theorem and Gosper’s algorithm. does a similar

method apply for proving the L(Kj, Ky )) theorem?

(1,1,1)

how do we apply hypergeometric techniques to the Kj, %/, case?

are there combinatorial arguments for the product formulas like Stanley’s for L(K},)?

algorithms for computing ¢ (G) for symmetric graphs / general graphs



further reading
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Thank you for listening!
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